
Divide by 10⁻¹ (C)Find each quotient.
84 ÷ 10⁻¹ = 34 ÷ 10⁻¹ =
2 ÷ 10⁻¹ = 7 ÷ 10⁻¹ =
88 ÷ 10⁻¹ = 87 ÷ 10⁻¹ =
47 ÷ 10⁻¹ = 71 ÷ 10⁻¹ =
80 ÷ 10⁻¹ = 48 ÷ 10⁻¹ =
27 ÷ 10⁻¹ = 68 ÷ 10⁻¹ =
39 ÷ 10⁻¹ = 53 ÷ 10⁻¹ =
48 ÷ 10⁻¹ = 7 ÷ 10⁻¹ =
22 ÷ 10⁻¹ = 67 ÷ 10⁻¹ =
69 ÷ 10⁻¹ = 83 ÷ 10⁻¹ =
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Divide by 10⁻¹ (C) AnswersFind each quotient.
84 ÷ 10⁻¹ = 840 34 ÷ 10⁻¹ = 340
2 ÷ 10⁻¹ = 20 7 ÷ 10⁻¹ = 70
88 ÷ 10⁻¹ = 880 87 ÷ 10⁻¹ = 870
47 ÷ 10⁻¹ = 470 71 ÷ 10⁻¹ = 710
80 ÷ 10⁻¹ = 800 48 ÷ 10⁻¹ = 480
27 ÷ 10⁻¹ = 270 68 ÷ 10⁻¹ = 680
39 ÷ 10⁻¹ = 390 53 ÷ 10⁻¹ = 530
48 ÷ 10⁻¹ = 480 7 ÷ 10⁻¹ = 70
22 ÷ 10⁻¹ = 220 67 ÷ 10⁻¹ = 670
69 ÷ 10⁻¹ = 690 83 ÷ 10⁻¹ = 830
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